

ARIZONA DEPARTMENT OF TRANSPORTATION
INFRASTRUCTURE DELIVERY AND OPERATIONS DIVISION
CONTRACTS AND SPECIFICATIONS SECTION

TABULATION OF BIDS

CONTRACT # 2025010

TRACS No.	Project No.	Item	County	District	Gross Length	Net Length	Prepared By:
087 MA 170 F055501C	087-A-(216)T	103122	MARICOPA	CENTRAL	1.6		Zarghami Ata

Highway Termini	Location	Work Description
-----------------	----------	------------------

• PICACHO – COOLIDGE – CHANDLER – MESA
HIGHWAY (SR 87) • Western Canal - Baseline Road • Pavement Rehabilitation

BID RESULTS FOR 2025010

Bid Opening Date : 9/19/2025, Prequalification Required, Engineer Specialist : Zarghami Ata

Completion Date:

365 Calendar Days

The proposed project is located in the Cities of Chandler and Mesa, and the Town of Gilbert in Maricopa County, along SR 87 from milepost 170.20 to milepost 171.72. The work includes milling and replacing asphaltic concrete; constructing curb and gutter, sidewalks, driveways and sidewalk ramps; and other miscellaneous work.

Bid Rank	Compared To Department Estimat	Option #	Bid Amount	Contractor	Extended Sum of Items
	+%		\$5,169,264.40	DEPARTMENT ESTIMATE	\$5,169,264.40
1	+27.3%		\$6,581,433.00	GRANITE CONSTRUCTION COMPANY 4115 E ILLINOIS ST TUCSON, AZ 85714-	\$6,581,433.00

Winning Bidder is 27.3% Over Department Estimate (Difference = \$1,412,168.60)

*** Bid Tabs for Proposal Pamphlet 2025010 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2020020	L.FT.	REMOVAL OF CONCRETE CURB				
Bid Rank	Department Estimate		291.000	\$15.000	\$4,365.00	
1	GRANITE CONSTRUCTION COMPANY			\$30.000	\$8,730.00	+100.0%
2020021	L.FT.	REMOVAL OF CONCRETE CURB AND GUTTER				
Bid Rank	Department Estimate		1,917.000	\$20.000	\$38,340.00	
1	GRANITE CONSTRUCTION COMPANY			\$30.000	\$57,510.00	+50.0%
2020025	SQ.FT.	REMOVAL OF CONCRETE SIDEWALKS, DRIVEWAYS AND SLABS				
Bid Rank	Department Estimate		33,761.000	\$5.000	\$168,805.00	
1	GRANITE CONSTRUCTION COMPANY			\$6.500	\$219,446.50	+30.0%
2020052	L.FT.	REMOVE (HANDRAIL)				
Bid Rank	Department Estimate		256.000	\$40.000	\$10,240.00	
1	GRANITE CONSTRUCTION COMPANY			\$3.260	\$834.56	-91.9%
2020053	EACH	REMOVE (TREE AND TREE GRATE)				
Bid Rank	Department Estimate		2.000	\$2,000.000	\$4,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$4,150.000	\$8,300.00	+107.5%
2020055	L.SUM	REMOVE AND SALVAGE (EXISTING TRAFFIC SIGNAL EQUIPMENT)(SR-87 & GUADALUPE)				
Bid Rank	Department Estimate		1.000	\$8,000.000	\$8,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$7,350.000	\$7,350.00	-8.1%
2020056	L.SUM	REMOVE AND SALVAGE (EXISTING PUSH BUTTONS)(SR-87 & SAN ANGELO)				
Bid Rank	Department Estimate		1.000	\$4,000.000	\$4,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$3,031.000	\$3,031.00	-24.2%
2020059	L.SUM	REMOVE AND SALVAGE (EXISTING PUSH BUTTONS)(SR-87 & DESERT)				
Bid Rank	Department Estimate		1.000	\$4,000.000	\$4,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$1,945.000	\$1,945.00	-51.4%
2020085	SQ.YD.	REMOVE BITUMINOUS PAVEMENT (MILLING) (3")				
Bid Rank	Department Estimate		74,136.000	\$3.500	\$259,476.00	
1	GRANITE CONSTRUCTION COMPANY			\$6.750	\$500,418.00	+92.9%
2020115	EACH	REMOVE (SCUPPER)				
Bid Rank	Department Estimate		7.000	\$2,000.000	\$14,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$4,000.000	\$28,000.00	+100.0%
2020116	EACH	REMOVE (CATCH BASIN)				
Bid Rank	Department Estimate		3.000	\$2,500.000	\$7,500.00	
1	GRANITE CONSTRUCTION COMPANY			\$2,750.000	\$8,250.00	+10.0%
2020155	EACH	REMOVE (SIGN ASSEMBLY)				
Bid Rank	Department Estimate		8.000	\$250.000	\$2,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$152.000	\$1,216.00	-39.2%

*** Bid Tabs for Proposal Pamphlet 2025010 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
2050001	SQ.YD.	GRADING ROADWAY FOR PAVEMENT				
Bid Rank	Department Estimate		1,518.000	\$40.000	\$60,720.00	
1	GRANITE CONSTRUCTION COMPANY			\$132.500	\$201,135.00	+231.3%
3030022	CU.YD.	AGGREGATE BASE, CLASS 2				
Bid Rank	Department Estimate		465.000	\$150.000	\$69,750.00	
1	GRANITE CONSTRUCTION COMPANY			\$122.000	\$56,730.00	-18.7%
4040111	TON	BITUMINOUS TACK COAT				
Bid Rank	Department Estimate		26.000	\$750.000	\$19,500.00	
1	GRANITE CONSTRUCTION COMPANY			\$510.000	\$13,260.00	-32.0%
4040116	HOUR	APPLY BITUMINOUS TACK COAT				
Bid Rank	Department Estimate		216.000	\$250.000	\$54,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$175.000	\$37,800.00	-30.0%
4040125	TON	FOG COAT				
Bid Rank	Department Estimate		19.000	\$2,000.000	\$38,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$2,800.000	\$53,200.00	+40.0%
4040165	SQ.YD.	BLOTTER MATERIAL				
Bid Rank	Department Estimate		76,052.000	\$0.300	\$22,815.60	
1	GRANITE CONSTRUCTION COMPANY			\$0.090	\$6,844.68	-70.0%
4160004	TON	ASPHALTIC CONCRETE (3/4" MIX) (END PRODUCT) (SPECIAL MIX)				
Bid Rank	Department Estimate		13,158.000	\$130.000	\$1,710,540.00	
1	GRANITE CONSTRUCTION COMPANY			\$193.000	\$2,539,494.00	+48.5%
5011013	L.FT.	PIPE, REINFORCED CONCRETE, CLASS III, 18"				
Bid Rank	Department Estimate		71.000	\$400.000	\$28,400.00	
1	GRANITE CONSTRUCTION COMPANY			\$230.000	\$16,330.00	-42.5%
5030001	EACH	CONCRETE CATCH BASIN (C-15.10) SINGLE, H=8' OR LESS				
Bid Rank	Department Estimate		3.000	\$10,000.000	\$30,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$5,160.000	\$15,480.00	-48.4%
5050001	EACH	MANHOLE (C-18.10) (NO. 1) (FOR PIPES 6" TO 36")				
Bid Rank	Department Estimate		4.000	\$20,000.000	\$80,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$8,950.000	\$35,800.00	-55.3%
5050201	EACH	RESET FRAME AND COVER FOR MANHOLE				
Bid Rank	Department Estimate		1.000	\$2,000.000	\$2,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$3,750.000	\$3,750.00	+87.5%
5050202	EACH	RESET FRAME AND COVER FOR MANHOLE (SRP MANHOLE)				
Bid Rank	Department Estimate		2.000	\$2,000.000	\$4,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$3,750.000	\$7,500.00	+87.5%

*** Bid Tabs for Proposal Pamphlet 2025010 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
6070038	EACH	SLIP BASE				
Bid Rank	Department Estimate		5.000	\$350.000	\$1,750.00	
1	GRANITE CONSTRUCTION COMPANY			\$380.000	\$1,900.00	+8.6%
6070055	L.FT.	SIGN POST (PERFORATED) (2 1/2 S)				
Bid Rank	Department Estimate		47.000	\$31.000	\$1,457.00	
1	GRANITE CONSTRUCTION COMPANY			\$14.110	\$663.17	-54.5%
6070057	L.FT.	SIGN POST (PERFORATED) (2 1/2 T)				
Bid Rank	Department Estimate		28.000	\$38.000	\$1,064.00	
1	GRANITE CONSTRUCTION COMPANY			\$26.050	\$729.40	-31.4%
6070060	EACH	FOUNDATION FOR SIGN POST (CONCRETE)				
Bid Rank	Department Estimate		6.000	\$400.000	\$2,400.00	
1	GRANITE CONSTRUCTION COMPANY			\$206.500	\$1,239.00	-48.4%
6080005	SQ.FT.	REGULATORY, WARNING, OR MARKER SIGN PANEL				
Bid Rank	Department Estimate		50.000	\$45.000	\$2,250.00	
1	GRANITE CONSTRUCTION COMPANY			\$38.000	\$1,900.00	-15.6%
6110200	L.FT.	METAL HANDRAIL (DETAIL F)				
Bid Rank	Department Estimate		348.000	\$90.000	\$31,320.00	
1	GRANITE CONSTRUCTION COMPANY			\$118.000	\$41,064.00	+31.1%
6110202	L.FT.	METAL HANDRAIL (MODIFICATION) (DETAIL G)				
Bid Rank	Department Estimate		81.000	\$50.000	\$4,050.00	
1	GRANITE CONSTRUCTION COMPANY			\$50.200	\$4,066.20	+0.4%
7016030	EACH-DAY	BARRICADE (TYPE 1, TYPE 2, VERT.PANEL, TUBULAR MARKER)				
Bid Rank	Department Estimate		31,950.000	\$0.400	\$12,780.00	
1	GRANITE CONSTRUCTION COMPANY			\$0.060	\$1,917.00	-85.0%
7016031	EACH-DAY	BARRICADE (TYPE 3, HIGH LEVEL FLAG TREE)				
Bid Rank	Department Estimate		140.000	\$0.800	\$112.00	
1	GRANITE CONSTRUCTION COMPANY			\$0.060	\$8.40	-92.5%
7016033	EACH-DAY	PORTABLE SIGN STAND (SPRING TYPE)				
Bid Rank	Department Estimate		5,560.000	\$1.000	\$5,560.00	
1	GRANITE CONSTRUCTION COMPANY			\$0.060	\$333.60	-94.0%
7016035	EACH-DAY	WARNING LIGHT (TYPE A)				
Bid Rank	Department Estimate		6,960.000	\$0.400	\$2,784.00	
1	GRANITE CONSTRUCTION COMPANY			\$0.060	\$417.60	-85.0%
7016037	EACH-DAY	WARNING LIGHT (TYPE C)				
Bid Rank	Department Estimate		31,610.000	\$0.500	\$15,805.00	
1	GRANITE CONSTRUCTION COMPANY			\$0.060	\$1,896.60	-88.0%

*** Bid Tabs for Proposal Pamphlet 2025010 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7016039	EACH-DAY	EMBEDDED SIGN POST				
Bid Rank	Department Estimate		2,190.000	\$0.200	\$438.00	
1	GRANITE CONSTRUCTION COMPANY			\$0.060	\$131.40	-70.0%
7016050	EACH-DAY	TRUCK-MOUNTED ATTENUATOR				
Bid Rank	Department Estimate		620.000	\$500.000	\$310,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$782.000	\$484,840.00	+56.4%
7016051	EACH-DAY	TEMPORARY SIGN (LESS THAN 10 S.F.)				
Bid Rank	Department Estimate		3,240.000	\$1.000	\$3,240.00	
1	GRANITE CONSTRUCTION COMPANY			\$0.060	\$194.40	-94.0%
7016052	EACH-DAY	TEMPORARY SIGN (10 S.F. OR MORE)				
Bid Rank	Department Estimate		3,760.000	\$1.100	\$4,136.00	
1	GRANITE CONSTRUCTION COMPANY			\$0.070	\$263.20	-93.6%
7016061	EACH-DAY	FLASHING ARROW PANEL				
Bid Rank	Department Estimate		480.000	\$50.000	\$24,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$23.000	\$11,040.00	-54.0%
7016067	EACH-DAY	CHANGEABLE MESSAGE BOARD (CONTRACTOR FURNISHED)				
Bid Rank	Department Estimate		730.000	\$80.000	\$58,400.00	
1	GRANITE CONSTRUCTION COMPANY			\$32.500	\$23,725.00	-59.4%
7016081	HOUR	FLAGGING SERVICES (DPS)				
Bid Rank	Department Estimate		140.000	\$125.000	\$17,500.00	
1	GRANITE CONSTRUCTION COMPANY			\$90.250	\$12,635.00	-27.8%
7016082	HOUR	FLAGGING SERVICES (LOCAL ENFORCEMENT OFFICER)(WITH AGENCY VEHICLE)				
Bid Rank	Department Estimate		110.000	\$110.000	\$12,100.00	
1	GRANITE CONSTRUCTION COMPANY			\$125.000	\$13,750.00	+13.6%
7040005	L.FT.	PAVEMENT MARKING (WHITE EXTRUDED THERMOPLASTIC) (0.090")				
Bid Rank	Department Estimate		37,350.000	\$0.700	\$26,145.00	
1	GRANITE CONSTRUCTION COMPANY			\$0.500	\$18,675.00	-28.6%
7040006	L.FT.	PAVEMENT MARKING (YELLOW EXTRUDED THERMOPLASTIC) (0.090")				
Bid Rank	Department Estimate		31,100.000	\$0.700	\$21,770.00	
1	GRANITE CONSTRUCTION COMPANY			\$0.500	\$15,550.00	-28.6%
7040072	L.FT.	PAVEMENT MARKING (TRANSVERSE) (THERMOPLASTIC) (ALKYD) (0.090")				
Bid Rank	Department Estimate		10,470.000	\$0.900	\$9,423.00	
1	GRANITE CONSTRUCTION COMPANY			\$1.000	\$10,470.00	+11.1%
7040073	EACH	PAVEMENT LEGEND (EXTRUDED THERMOPLASTIC) (ALKYD) (0.090")				
Bid Rank	Department Estimate		21.000	\$250.000	\$5,250.00	
1	GRANITE CONSTRUCTION COMPANY			\$152.000	\$3,192.00	-39.2%

*** Bid Tabs for Proposal Pamphlet 2025010 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7040074	EACH	PAVEMENT SYMBOL (EXTRUDED THERMOPLASTIC) (ALKYD) (0.090")				
Bid Rank	Department Estimate		50.000	\$250.000	\$12,500.00	
1	GRANITE CONSTRUCTION COMPANY			\$125.000	\$6,250.00	-50.0%
7060013	EACH	PAVEMENT MARKER, RAISED, TYPE C				
Bid Rank	Department Estimate		720.000	\$3.500	\$2,520.00	
1	GRANITE CONSTRUCTION COMPANY			\$2.710	\$1,951.20	-22.6%
7060015	EACH	PAVEMENT MARKER, RAISED, TYPE D				
Bid Rank	Department Estimate		330.000	\$3.500	\$1,155.00	
1	GRANITE CONSTRUCTION COMPANY			\$2.710	\$894.30	-22.6%
7060018	EACH	PAVEMENT MARKER, RAISED, TYPE G				
Bid Rank	Department Estimate		260.000	\$3.500	\$910.00	
1	GRANITE CONSTRUCTION COMPANY			\$2.710	\$704.60	-22.6%
7060140	EACH	PAVEMENT MARKER (RAISED, TYPE BB)				
Bid Rank	Department Estimate		12.000	\$5.000	\$60.00	
1	GRANITE CONSTRUCTION COMPANY			\$2.710	\$32.52	-45.8%
7080201	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (WHITE)				
Bid Rank	Department Estimate		15,929.000	\$0.200	\$3,185.80	
1	GRANITE CONSTRUCTION COMPANY			\$0.090	\$1,433.61	-55.0%
7080202	L.FT.	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED) (YELLOW)				
Bid Rank	Department Estimate		14,440.000	\$0.200	\$2,888.00	
1	GRANITE CONSTRUCTION COMPANY			\$0.090	\$1,299.60	-55.0%
7080206	EACH	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED SYMBOL) (ARROW)				
Bid Rank	Department Estimate		50.000	\$90.000	\$4,500.00	
1	GRANITE CONSTRUCTION COMPANY			\$60.000	\$3,000.00	-33.3%
7080208	EACH	WATERBORNE-TYPE I PAVEMENT MARKING (PAINTED LEGEND) (ONLY)				
Bid Rank	Department Estimate		23.000	\$90.000	\$2,070.00	
1	GRANITE CONSTRUCTION COMPANY			\$65.500	\$1,506.50	-27.2%
7310012	EACH	POLE (TYPE A) (15')				
Bid Rank	Department Estimate		1.000	\$2,000.000	\$2,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$3,245.000	\$3,245.00	+62.3%
7310190	EACH	POLE (PEDESTRIAN PUSH BUTTON)(GILBERT STD. GIL-805)				
Bid Rank	Department Estimate		1.000	\$800.000	\$800.00	
1	GRANITE CONSTRUCTION COMPANY			\$1,916.000	\$1,916.00	+139.5%
7310195	EACH	POST (PEDESTRIAN PUSH BUTTON)				
Bid Rank	Department Estimate		7.000	\$1,000.000	\$7,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$1,916.000	\$13,412.00	+91.6%

*** Bid Tabs for Proposal Pamphlet 2025010 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7310200	EACH	POLE FOUNDATION (TYPE A)				
Bid Rank	Department Estimate		1.000	\$800.000	\$800.00	
1	GRANITE CONSTRUCTION COMPANY			\$3,065.000	\$3,065.00	+283.1%
7310371	EACH	POLE FOUNDATION (PEDESTRIAN PUSH BUTTON)(GILBERT STD. GIL-805)				
Bid Rank	Department Estimate		1.000	\$800.000	\$800.00	
1	GRANITE CONSTRUCTION COMPANY			\$2,459.000	\$2,459.00	+207.4%
7310390	EACH	PEDESTRIAN PUSH BUTTON POST FOUNDATION				
Bid Rank	Department Estimate		7.000	\$1,000.000	\$7,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$2,459.000	\$17,213.00	+145.9%
7320050	L.FT.	ELECTRICAL CONDUIT (2") (PVC)				
Bid Rank	Department Estimate		110.000	\$22.000	\$2,420.00	
1	GRANITE CONSTRUCTION COMPANY			\$29.000	\$3,190.00	+31.8%
7320070	L.FT.	ELECTRICAL CONDUIT (3") (PVC)				
Bid Rank	Department Estimate		30.000	\$28.000	\$840.00	
1	GRANITE CONSTRUCTION COMPANY			\$30.500	\$915.00	+8.9%
7320073	L.FT.	ELECTRICAL CONDUIT (2 - 3") (PVC)				
Bid Rank	Department Estimate		450.000	\$30.000	\$13,500.00	
1	GRANITE CONSTRUCTION COMPANY			\$104.000	\$46,800.00	+246.7%
7320090	L.FT.	ELECTRICAL CONDUIT (4") (PVC)				
Bid Rank	Department Estimate		10.000	\$30.000	\$300.00	
1	GRANITE CONSTRUCTION COMPANY			\$45.000	\$450.00	+50.0%
7320291	L.FT.	ELECTRICAL CONDUIT (2-4") (PVC)				
Bid Rank	Department Estimate		250.000	\$50.000	\$12,500.00	
1	GRANITE CONSTRUCTION COMPANY			\$113.000	\$28,250.00	+126.0%
7320421	EACH	PULL BOX (NO. 7) (WITH EXTENSION)				
Bid Rank	Department Estimate		3.000	\$1,200.000	\$3,600.00	
1	GRANITE CONSTRUCTION COMPANY			\$3,275.000	\$9,825.00	+172.9%
7320456	EACH	PULL BOX (NO. 7) (GILBERT STD. GIL-842 & GIL-843)				
Bid Rank	Department Estimate		1.000	\$1,000.000	\$1,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$3,275.000	\$3,275.00	+227.5%
7320651	L.SUM	CONDUCTORS (SR-87 & GUADALUPE)				
Bid Rank	Department Estimate		1.000	\$10,000.000	\$10,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$9,535.000	\$9,535.00	-4.7%
7320652	L.SUM	CONDUCTORS (SR-87 & SAN ANGELO)				
Bid Rank	Department Estimate		1.000	\$10,000.000	\$10,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$9,900.000	\$9,900.00	-1.0%

*** Bid Tabs for Proposal Pamphlet 2025010 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
7320653	L.SUM	CONDUCTORS (SR-87 & DESERT)				
Bid Rank	Department Estimate		1.000	\$10,000.000	\$10,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$9,311.000	\$9,311.00	-6.9%
7330060	EACH	TRAFFIC SIGNAL FACE (TYPE F)				
Bid Rank	Department Estimate		1.000	\$500.000	\$500.00	
1	GRANITE CONSTRUCTION COMPANY			\$1,116.000	\$1,116.00	+123.2%
7330070	EACH	TRAFFIC SIGNAL FACE (TYPE G)				
Bid Rank	Department Estimate		1.000	\$600.000	\$600.00	
1	GRANITE CONSTRUCTION COMPANY			\$1,413.000	\$1,413.00	+135.5%
7330210	EACH	TRAFFIC SIGNAL FACE (PEDESTRIAN) (MAN/HAND)				
Bid Rank	Department Estimate		2.000	\$500.000	\$1,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$1,057.000	\$2,114.00	+111.4%
7330220	EACH	PEDESTRIAN PUSH BUTTON				
Bid Rank	Department Estimate		11.000	\$750.000	\$8,250.00	
1	GRANITE CONSTRUCTION COMPANY			\$1,028.000	\$11,308.00	+37.1%
7330221	EACH	PEDESTRIAN PUSH BUTTON (CAMPBELL GUARDIAN)				
Bid Rank	Department Estimate		2.000	\$700.000	\$1,400.00	
1	GRANITE CONSTRUCTION COMPANY			\$1,645.000	\$3,290.00	+135.0%
7330340	EACH	TRAFFIC SIGNAL MOUNTING ASSEMBLY (TYPE V)				
Bid Rank	Department Estimate		1.000	\$500.000	\$500.00	
1	GRANITE CONSTRUCTION COMPANY			\$1,013.000	\$1,013.00	+102.6%
7330350	EACH	TRAFFIC SIGNAL MOUNTING ASSEMBLY (TYPE VI)				
Bid Rank	Department Estimate		1.000	\$600.000	\$600.00	
1	GRANITE CONSTRUCTION COMPANY			\$1,204.000	\$1,204.00	+100.7%
7350023	EACH	LOOP DETECTOR (SPEED/CLASSIFICATION) (PARTIAL REPLACEMENT)				
Bid Rank	Department Estimate		1.000	\$15,000.000	\$15,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$2,833.000	\$2,833.00	-81.1%
8030104	SQ.YD.	DECOMPOSED GRANITE (1/2" SCREENED)				
Bid Rank	Department Estimate		215.000	\$25.000	\$5,375.00	
1	GRANITE CONSTRUCTION COMPANY			\$8.000	\$1,720.00	-68.0%
8061298	EACH	SHRUB (FIVE GALLON)				
Bid Rank	Department Estimate		32.000	\$40.000	\$1,280.00	
1	GRANITE CONSTRUCTION COMPANY			\$33.000	\$1,056.00	-17.5%
8070001	L.SUM	LANDSCAPING ESTABLISHMENT				
Bid Rank	Department Estimate		1.000	\$6,000.000	\$6,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$2,750.000	\$2,750.00	-54.2%

*** Bid Tabs for Proposal Pamphlet 2025010 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
8080646	EACH	RESET FRAME AND COVER FOR VALVE BOX				
Bid Rank	Department Estimate		39.000	\$1,500.000	\$58,500.00	
1	GRANITE CONSTRUCTION COMPANY			\$1,800.000	\$70,200.00	+20.0%
8080655	EACH	RELOCATE FIRE HYDRANT				
Bid Rank	Department Estimate		1.000	\$8,000.000	\$8,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$8,500.000	\$8,500.00	+6.3%
8091114	EACH	MANHOLE, SANITARY SEWER (RESET FRAME AND COVER)				
Bid Rank	Department Estimate		3.000	\$2,000.000	\$6,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$6,750.000	\$20,250.00	+237.5%
8101017	EACH	EROSION CONTROL (GRAVEL BAG)				
Bid Rank	Department Estimate		1,185.000	\$25.000	\$29,625.00	
1	GRANITE CONSTRUCTION COMPANY			\$35.000	\$41,475.00	+40.0%
8101018	SQ.YD.	EROSION CONTROL (STABILIZED CONSTRUCTION ENTRANCE/EXIT GRAVEL PAD)				
Bid Rank	Department Estimate		800.000	\$50.000	\$40,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$25.000	\$20,000.00	-50.0%
9010001	L.SUM	MOBILIZATION				
Bid Rank	Department Estimate		1.000	\$530,000.000	\$530,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$655,759.860	\$655,759.86	+23.7%
9030134	SQ.FT.	CONCRETE VALLEY GUTTER				
Bid Rank	Department Estimate		4,077.000	\$25.000	\$101,925.00	
1	GRANITE CONSTRUCTION COMPANY			\$19.400	\$79,093.80	-22.4%
9080084	L.FT.	CONCRETE CURB AND GUTTER (TYPE D)				
Bid Rank	Department Estimate		1,711.000	\$75.000	\$128,325.00	
1	GRANITE CONSTRUCTION COMPANY			\$62.750	\$107,365.25	-16.3%
9080101	L.FT.	CONCRETE CURB AND GUTTER, TYPE A (MAG DET. 220-1)				
Bid Rank	Department Estimate		262.000	\$65.000	\$17,030.00	
1	GRANITE CONSTRUCTION COMPANY			\$61.150	\$16,021.30	-5.9%
9080201	SQ.FT.	CONCRETE SIDEWALK (C-05.20)				
Bid Rank	Department Estimate		21,172.000	\$10.000	\$211,720.00	
1	GRANITE CONSTRUCTION COMPANY			\$13.500	\$285,822.00	+35.0%
9080245	SQ.YD.	CONCRETE (6" SLAB)				
Bid Rank	Department Estimate		206.000	\$110.000	\$22,660.00	
1	GRANITE CONSTRUCTION COMPANY			\$140.250	\$28,891.50	+27.5%
9080295	SQ.FT.	CONCRETE SIDEWALK RAMP				
Bid Rank	Department Estimate		1,952.000	\$45.000	\$87,840.00	
1	GRANITE CONSTRUCTION COMPANY			\$48.000	\$93,696.00	+6.7%

*** Bid Tabs for Proposal Pamphlet 2025010 ***

Item Number	Unit of Measure	Item Description	Quantity	Unit Price	Extended Amount	Compared To Dept Estimate
9080301	SQ.FT.	CONCRETE DRIVEWAY (C-05.20)				
Bid Rank	Department Estimate		6,695.000	\$20.000	\$133,900.00	
1	GRANITE CONSTRUCTION COMPANY			\$16.000	\$107,120.00	-20.0%
9080512	EACH	SCUPPER (MAG DETAIL 206)				
Bid Rank	Department Estimate		7.000	\$10,000.000	\$70,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$7,050.000	\$49,350.00	-29.5%
9080602	SQ.FT.	CONCRETE BUS SHELTER PAD (DETAIL B)				
Bid Rank	Department Estimate		563.000	\$50.000	\$28,150.00	
1	GRANITE CONSTRUCTION COMPANY			\$22.750	\$12,808.25	-54.5%
9090031	EACH	RESET FRAME AND COVER FOR SURVEY MONUMENT (C-21.10)				
Bid Rank	Department Estimate		7.000	\$1,500.000	\$10,500.00	
1	GRANITE CONSTRUCTION COMPANY			\$2,750.000	\$19,250.00	+83.3%
9130051	CU.YD.	RIPRAP (DUMPED) (D50=6")				
Bid Rank	Department Estimate		4.000	\$500.000	\$2,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$835.000	\$3,340.00	+67.0%
9130060	EACH	DRYWELL (MULCH) (DETAIL K)				
Bid Rank	Department Estimate		7.000	\$2,000.000	\$14,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$2,215.000	\$15,505.00	+10.8%
9210011	SQ.YD.	MEDIAN PAVING				
Bid Rank	Department Estimate		187.000	\$150.000	\$28,050.00	
1	GRANITE CONSTRUCTION COMPANY			\$117.000	\$21,879.00	-22.0%
9240012	L.SUM	FORCE ACCOUNT WORK (IRRIGATION RESTORATION)				
Bid Rank	Department Estimate		1.000	\$50,000.000	\$50,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$50,000.000	\$50,000.00	+0.0%
9240170	L.SUM	CONTRACTOR QUALITY CONTROL				
Bid Rank	Department Estimate		1.000	\$120,000.000	\$120,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$122,500.000	\$122,500.00	+2.1%
9250001	L.SUM	CONSTRUCTION SURVEYING AND LAYOUT				
Bid Rank	Department Estimate		1.000	\$100,000.000	\$100,000.00	
1	GRANITE CONSTRUCTION COMPANY			\$60,000.000	\$60,000.00	-40.0%